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« 1%, B2 YE oft)g €A 1-a, 2-b, 3-b, 4-b, 5-c.

« 2% ERvE g9 1, 2-b, 3-a, 4-¢, 5-a.

« 3%, AAAS T2 Ald S o] ZH PN 1-b, 2-b, 3-a, 4-b, 5.
o 47 ERIYE £A19] o]&|: 1-a, 2-b, 3-a, 4-b, 5-a.
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S ARESE @ BAE olE A 1-b, 2-a, 3-a, 4-b, 5-a.
« 64 Zd|olo] oJlg|E] 733k 1-a, 2-b, 3-a, 4-a, 5-b.
« 7% 3P UT 84 A 1-b, 2-a, 3-b, 4-a, 5-a.

-« 87, Aok 2

Ad=do] B3k AAL: 1-b, 2-a, 3-a, 4-b, 5-a.
« 9%, A E o2 FESHA W] 1-¢, 2-b, 3-a, 4-a, 5-b.

« 10 AL & Q)18|o|=: 1-b, 2-a, 3-a, 4-b, 5-a.

« 1173, Al AH|O|Ef upite] &4 28 1-a, 2—c, 3-b, 4-a, 5-a.
o 127 91& W Hl|3E: 1-a, 2-b, 3-a, 4-¢, 5-a.

« 137%;, glolE] -2 W 5 A|o]: 1-b, 2-a, 3-b, 4-a, 5-b.

. 1474}, sk W EFo]A =T 1-a, 2-a, 3-b, 4-b, 5-a.

« 15%} 8k g Eglo)A == 1-b, 2-a, 3-a, 4-b, 5-a.

« 167, VR 7lEt A7) 1-b, 2-a, 3-a, 4-b, 5-a.

o 1774, offyw|o)Ad EFLYE: 1-a, 2-b, 3-a, 4-b, 5-a.

o 187, ERXYE go|Bgg] W AYXHE AIA: 1-a, 2-b, 3-b, 4-a, 5-b,
« 197}, A& A 1-b, 2-b, 3-a, 4-b, 5-a.

* 207, HIFIRE MU A S ARSRE Al ulqtlolE A4 1-a, 2-b, 3-a, 4-a, 5-b.
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